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SSC CGL/CHSL TIER 2 (CRASH COURSE)

1. A, B, and C invested capitals in the ratio
7:6:5; the timing of their investments being
in the ratio 4:7:9. In what ratio would their
profit be distributed?

A, B, IR C 9 7:6:5 & SIUTd ¥ oIt A9 &l
I AL & GHT & AU 4:7:9 g ST ATH
e saTa | AT & sraer?

(a) 9:14:15 (b) 28:42:45 (c) 15:14:19 (d)
28:24:54
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2. A began a business with rs 400 and
was joined after wards by B with rs
240.When did B join if the profit at the
end of the year were divided in the ratio
4:17
A 400 &7 RIRRESESERIR -‘ei@ Ohicll 2

AT 240 9T * 9 ?Ibgp%swa

QT@W'@WQTH%@GT% 3 fr?vlTw
(Sy-prmep atns H T RSMoRtS:4) P=rnenth 3 (d)
RS T = orTfarer Zam
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3. A and B enter into a partnership with their
capitals in the ratio 5:9. At the end of 8
months, A withdrawals his capital. If they
receive the profits in the ratio 4:9, find how
long b’s capital was used?

A 3T b 5:9 % FAITT | STTAT TSIl & AT
AT § T Fd gl 8 WA & oid |, a (q+T
oIl a9 o AT gl T 9 4:9 & AT | ATH

(379 GrRorthsTIBYG hioAHE f)eniohtls |djd ST
THGREAS AT AT IT?
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4. A and B invested in the ratio 5:3 In
the business. If 10% of the total
profit goes a charity and a’s share
rs 900, find the total profit.

A T b 9 =T § 5:3 & FqITd H
REERERIEIEEEEICEIR IV AAG]

(Aﬁ%6ﬁ @r gfsrﬁ%%o ﬁsﬂo%%@
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5. A puts rs 375 more in a business than B, but
B has invested his capital for 4 months while
A has invested his for 8 months. If the share
of A is rs 75 more than that of B out of the
total profits of rs 1295, find the capital
contributed b

A, ba?rwg(l\oh A9 H 375 =97 AT+
smm% AT B 7 4 Hgid & {olT STa+T ISt
@Qsﬁ%ﬂ' biRs B FCRSI7857 @)rg SFATT, STIAT

R g1 Tfe a T 43I 125 w) %
T H & b % 75 ¥HT & ATEF §, T b FT
TRTETH ohl T2 GSi1 T ST el ?
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6. A is the working and B is the sleeping partner in
a business. A puts in rs 5000 and B puts in rs

6000. A receives 12 % % of a profit for managing

the business and the rest is divided in
proportion to their capitals. What does each get
out of the profit of rs 8807

A 3T b SEET § AR g | 1AL St b
CADEG d{l’ gl 3T a 5000 F. AT §3ﬁ'{ b 6000

TR S AT e T
bR B84 s i)

(D) rs 460, rs 420
o g e I B R e AR Gt e
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Q7- vishal and ankit entered into a business
by investing RS 6000 and RS 8000 for X and
X+4 months respectively . at the end , profit
share of vishal is RS 3900 less than profit
share of ankit . find the value of X if total profit
Is RS 12900( Iin months)’?
Q5 TereTTet ST STt  FHET: X AT x+4 ARl F
rs 6000 3T rs 8000 Eh‘r 9T F¥eh Uk

||v| T 1 T2
%ﬂ w%naﬁw
FflT‘%T12900 fr)%’cuxothM AT
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8. A and B enter into a partnership for a year. A
contributes Rs 3000 and B Rs 4000. After 8 months
they admit C, who contributes Rs. 4500. if B
withdrawls his contribution after 6 months, how
would they share a profit of Rs 1300 at the end of
the year?

A 3T B U |1 & {10 Teh HISQl | T997 FiLd g1 A
TRTaETT 3000 T 3T BEFF4OOO“€C|'EF%| 814‘@%%31?:
3%3{% gﬁ%sﬁﬂo' RIG4808)R “1"3b“R'&ﬂ)ﬁ

0 Alx 31‘1"” 4|‘|QI*‘| Al =1, ST

3780 R9%50,RE 575 (d] Data

Inadequate
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9. Investment of Sumit is 25% more than that of
Maanik and that of Ravi is Rs 8000 in that business.
After 8 months, Sumit and Maanik have increased
their amount by 20%,25% respectively and at the end
of the year, profit share of Sumit and Ravi becomes
equal then find the profit share percentage of
Maanik?

39 AT H AT T [Haer /1o = fAeer 7 25% srfere
g 3T T T 991 8000 &9 g1 8 Hald & 9T, AT T
TR & ST T2 7 T 20%, 25% F i HT A7
Y o Ad H, AT ST IS &1 A1 TZ& T S g1 4T, d@
HTTOTeh T TS TeedT ITa9rd ST shitord?

(a) 28 (8/9) %(b) 28( 1 /3) % (c) 27( 4 /9) % (d) 33 (1/
3) %
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Q10A, B and C enter into a partnership, A invest
X+8000, B invest 2X+2000 and C invest 3X + 4000 for
one year if B share is 4000 from total profit of 16000
then find the difference between investment of A and C.
A, B 3T C U AT H T4 F3d 5, A X+8000 T fAarer
AT g, B 2X+2000 =T 9997 T g 3 C UH qu o fory
3X + 4000 T [Ha9r AT g < 16000 = FHcT ATH & B T
T 4000 g T A 31T C o 999 o o= < ST e

(a) 4000 (b) 5000 (c) 6000 (d) 2000
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1. A and B started a business in partnership by investing Rs. 10,000 and Rs. 4000
respectively. Condition of partnership is that B got Rs. 100 per month for management
of the business. After paying 5% interest on the capital, annual profit has distributed in
the ratio of their investment/ find the share of their ratio, If the annual profit is Rs.

4000.
A 3T B 7 =97 10,000 3 %. 4000 FHA: FT a9l Fileh AT H Teh HGad F ATl

HTARRL sl o7 T8 & 1o B &l %. 100 TTd #18 HaETd & T & (o0 | Gt 9% 5% 4TSl @
% JTS, AT ATH Ieh A9 & STqaTd H [Add 31 AT &/37h AT AT [ZLaT A7 Y, Al
T ATH =9 4000 2.

(a) 3000 eac
(b) 2500 eac
(c) 1500 eac
(d) 2000 eac
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2. A and B started a business in partnership by investing in the ratio of 7 : 9. After
3 months A withdraw% of its investment and after 4 months from the beginning B

withdraw 33%% of its investment. If a total earned profit is Rs. 10201 at the end of 9
months, find the share of each in profit.

A 3T B 7 ATHGT | Ush SATITL F AT 3T A 7:9 o AT § 19T Goit farer a2
?ﬁ?ﬁ@ﬁaﬁ’Aaﬂ?ﬁﬁt@ﬁ%ﬁww, AT g TAT TTLFA | =1 HIg d1< B A9 ISi1

<‘=h‘r33§%ﬁohlc4 IaT gl FfT 9 ATE & 3=a | 10201 T ATH g &I, AT STH H TAF Fl

ToedT T gIm?

a) 3535 ,6666
b) 3055 , 5555
c) 4503, 1345
d) 3545 , 3333
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